No. of Printed Pages : 4 EEC-12

) BACHELOR’S DEGREE PROGRAMME
o
e

Term-End Examination
December, 2014

———
-
Nt

ELECTIVE COURSE : ECONOMICS
EEC-12 : INDIAN ECONOMIC

DEVELOPMENT SINCE INDEPENDENCE

Time : 3 hours Maximum Marks : 100

Note : Attempt questions from each section as per instructions

given below each section.

SECTION - A
Answer any two questions from this section in
about 500 words each. 2x20=40
1. What do you mean by structural change ? 20

Explain changes that have taken place in the
structural composition of GDP in India since
1950-51.

2. How do we measure inflation in India ? Identify
the various causes of inflation.

3.  What is agricultural price policy ? State the
objectives and functions of agricultural price
policy in India.

4.  What do you understand by the term ‘carrying
capacity’ ? How can the carrying capacity of
natural ecosystem be enhanced ?
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SECTION - B
Answer any four questions from this section in

about 250 words each : 4x12=48

What is industrialisation ? State the various
components of industrialisation in India.

What do you understand by collective
bargaining ? What are the pre-requisits for its
success ?

State the role of foreign trade in Indian economic
growth.

What is privatisation ? State its various forms.

What are the characteristics of Multi-National
Corporations (MNCs). Argue for and against
MNCs.

What is social security ? State the approaches
adopted in providing social security benefits in
India.

SECTION - C
Answer all questions from this section in about
100 words each.
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Distinguish between any two of the following : 2x3=6

(a) Gross sown area and Net sown area

() Plan expenditure and Non-Plan
expenditure

(c) Monetary policy and Fiscal policy

(d) Disguised unemployment and Open
unemployment.

Write short note on any two of the following : 2x3=6

(a) Public Utilities
(b) Labour Force

(c) Sustainable Development
(d) Land Reforms
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ETash U TRy
ATa qaa
foa=r, 2014

& gy : ey

T3 .-12 . TWaAaT Wi & &g 9RA
=T anfYe fawmma

gy : 3 §u 3fehaq 3% : 100
T IAF @E G REIEn g & IW ford |

wg - &

for=st @Y yoal & S fad | vIse TiH1 500 T |
2x20=40

1. GEIES UfEdd 9@ = Ay 8?7 9RdE g@a 20
T IR F 1950-51 F G T WA IRadi
1 AT B |

2. THNEATHRAHI M fFE TR W E? THifad 20
fafi= sroN &) vg=E Y2

3. 9 &ima Hifs #1R? 9Ra A Ffy wma Afa 20
3Ie9g IR+ FaEU|

4. ‘‘oRw em@’’ ¥ o9 @ wEed 82 fed wpfaw 20
s &t 95 S 9RO &l &1 fRE yHR gafda
fora ST g 8 2
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wE -9 4x12=48

forl =X Al % S ford | wise 9 250 T |
AR A B R 7 9Rd o sieiriieo & fafa=
TFH TR E?

‘O fes HicaTst’ 1 Bt § 2 39T Wl % fag
foet w7l =1 g0 T W © 2

WA 1 aAIfess Hafe o focef AR %1 AmeH sarsy |
fefiertor 71 €7 39ah fafa= g sy

g Tl 1 o faeioad €1 €2 3% ua ok
fouer o ek T
T &N 1 7 9RA W QAo wRen fedeny
Y T 1 o fafea oo e § 2

s - 1
[t v % IR ford | wee AT 100 g |
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T gt o 9 == i . 2x3=6

(a) T FfYd &3 AR fraa wiww e
(b) IS Y R NS =

(c) Hifgw ifq i Tt Hfg

(d) B AR TR Gert ISRy

o=l g1 W arfa wifare foomoft ford 2x3=6

(@) R ICEIECD gfér%rri
(b) &9 wifs

(c) wRviE fawm
(d) I guw
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